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1.Which of the following best describes an Abstract Data Type (ADT)?
a) It specifies how data is stored in memory

b) It defines a set of operations without specifying their implementation
c) It provides implementation details of data structures

d) It focuses on low-level memory representation

Answer: b) It defines a set of operations without specifying their implementation

Explanation: Abstract Data Types define a set of operations and their semantics without
specifying how these operations are implemented.

2.How are data and information distinguished?

a) Data refers to processed information

b) Data is raw facts, while information is processed data
c) Data and information are synonyms

d) Information refers to unprocessed data

Answer: b) Data is raw facts, while information is processed data

Explanation: Data refers to raw facts, while information is the processed form of data that has
meaning and context.

3.Which data structure is most suitable for implementing a stack?
a) Array

b) Linked List

c) Queue

d) Tree
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Answer: a) Array

Explanation: Arrays are commonly used to implement a stack due to their simplicity and
efficiency in accessing elements.

4 What is the primary advantage of a linked list over an array?
a) Constant time access to elements

b) Efficient memory utilization

¢) Dynamic size

d) Random access capability

Answer: c) Dynamic size

Explanation: Linked lists can dynamically adjust their size, whereas arrays have a fixed size
allocated in memory.

5.How is a circular linked list different from a singly linked list?
a) Circular linked list allows traversal only in one direction

b) Circular linked list has no end

c) Circular linked list has a loop in its structure

d) Circular linked list does not support deletion operation

Answer: ¢) Circular linked list has a loop in its structure

Explanation: In a circular linked list, the last node points back to the first node, forming a
loop.

6.Which operation in a linked list is most efficient for insertion and deletion at the beginning?
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a) Insertion and deletion at the end

b) Insertion and deletion at the middle

¢) Insertion and deletion at the beginning
d) Insertion and deletion at any position

Answer: c) Insertion and deletion at the beginning

Explanation: Insertion and deletion at the beginning of a linked list require updating only the
head pointer, making them more efficient.

7.What is the time complexity for accessing an element in an array?
a) O(1)

b) O(log n)

c) O(n)

d) O(n"2)

Answer: a) O(1)

Explanation: Accessing an element in an array by index has constant time complexity.

8.Which data structure is typically used to implement a queue?
a) Array

b) Stack

c) Linked List

d) Tree

Answer: c) Linked List
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Explanation: Linked lists are commonly used to implement queues due to efficient insertion
and deletion at both ends.

9.In a doubly linked list, each node contains how many pointers?
a) One

b) Two

c) Three

d) Four

Answer: b) Two

Explanation: In a doubly linked list, each node contains two pointers: one to the next node
and one to the previous node.

10.Which operation in a linked list requires traversal of the entire list?
a) Insertion at the beginning

b) Insertion at the end

c) Deletion at the beginning

d) Deletion at the end

Answer: b) Insertion at the end

Explanation: Insertion at the end of a singly linked list requires traversing the entire list to
reach the last node.

11.What is the time complexity of searching for an element in a linked list?

a) 0O(1)
b) O(log n)
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c) O(n)
d) O(n"2)

Answer: c) O(n)

Explanation: Searching in a linked list requires traversing the list, resulting in linear time
complexity.

12.Which of the following is an advantage of a doubly linked list over a singly linked list?
a) Efficient memory utilization

b) Simplicity of implementation

c) Ability to traverse the list in both directions

d) Constant time complexity for insertion at any position

Answer: c) Ability to traverse the list in both directions

Explanation: Doubly linked lists allow traversal in both forward and backward directions,
unlike singly linked lists.

13.Which data structure is suitable for implementing a Last In First Out (LIFO) behavior?
a) Queue

b) Stack

¢) Linked List

d) Tree

Answer: b) Stack

Explanation: Stacks follow the Last In First Out (LIFO) principle, making them suitable for
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implementations like function call stacks.

14.Which operation in a linked list requires updating only one pointer?
a) Insertion at the end

b) Deletion at the beginning

c) Deletion at the end

d) Insertion at the beginning

Answer: b) Deletion at the beginning

Explanation: Deletion at the beginning of a linked list requires updating only the head
pointer.

15.What is the space complexity of a singly linked list?
a) O(1)

b) O(log n)

c) O(n)

d) O(n"2)

Answer: c) O(n)

Explanation: Singly linked lists require space proportional to the number of elements stored,
resulting in linear space complexity.

16.Which data structure allows efficient insertion and deletion operations at both ends?
a) Stack

b) Queue

c) Linked List
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d) Array

Answer: c) Linked List

Explanation: Linked lists allow efficient insertion and deletion at both the beginning and end
by updating pointers.

17.Which of the following is an example of a linear data structure?
a) Tree

b) Graph

) Stack

d) Hash table

Answer: c) Stack

Explanation: Stacks are linear data structures where elements are arranged in a sequential
order.

18.What is the time complexity of inserting an element at any position in an array?
a) O(1)

b) O(log n)

c) O(n)

d) O(n"2)

Answer: d) O(n"2)

Explanation: Inserting an element at any position in an array requires shifting subsequent
elements, resulting in quadratic time complexity.
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19.Which data structure uses the principle of First In First Out (FIFO)?
a) Stack

b) Queue

c) Linked List

d) Binary Search Tree

Answer: b) Queue

Explanation: Queues follow the First In First Out (FIFO) principle, where the element added
first is removed first.

20.Which of the following is an application of a linked list?
a) Representing hierarchical data

b) Implementing recursive algorithms

c¢) Storing key-value pairs

d) Storing elements in sorted order

Answer: b) Implementing recursive algorithms

Explanation: Linked lists are often used in implementing recursive algorithms due to their
dynamic nature.

21.Which operation in a linked list requires traversal of the list to find the predecessor of a
node?

a) Insertion at the beginning

b) Insertion at the end

c) Deletion at the beginning

d) Deletion at the end
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Answer: d) Deletion at the end

Explanation: Deletion at the end of a singly linked list requires finding the predecessor node
of the last node, necessitating traversal.

22.What is the time complexity of deleting an element from the middle of a singly linked list,
given the position of the element?

a) O(1)

b) O(log n)

c) O(n)

d) O(n"2)

Answer: c) O(n)

Explanation: Deleting an element from the middle of a singly linked list requires traversal to
find the node to delete, resulting in linear time complexity.

23.Which data structure is typically used to implement undo functionality in text editors?
a) Stack

b) Queue

¢) Linked List

d) Tree

Answer: a) Stack

Explanation: Stacks are commonly used to implement undo functionality due to their Last In
First Out (LIFO) behavior.
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24.What is the primary disadvantage of using an array to implement a stack?
a) Inefficient memory utilization

b) Limited capacity

¢) Complex implementation

d) Difficulty in resizing

Answer: b) Limited capacity

Explanation: Arrays have a fixed size, leading to limited capacity when used to implement a
stack.

25.Which data structure is used for quick retrieval of the maximum or minimum element?
a) Stack

b) Queue

c) Heap

d) Linked List

Answer: ¢) Heap

Explanation: Heaps allow quick retrieval of the maximum or minimum element, making them
suitable for priority queue implementations.

26.Which operation in a linked list requires updating the pointers of both the current node
and its predecessor?

a) Insertion at the beginning

b) Insertion at the end

c) Deletion at the beginning

d) Deletion at the end
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Answer: b) Insertion at the end

Explanation: Insertion at the end of a singly linked list requires updating both the current
node’s pointer and its predecessor’s pointer.

27.What is the space complexity of a circular linked list with n nodes?
a) O(1)

b) O(log n)

c) O(n)

d) O(n"2)

Answer: c) O(n)

Explanation: Circular linked lists have space complexity proportional to the number of nodes
stored.

28.Which data structure is commonly used for implementing breadth-first search (BFS) in
graphs?

a) Stack

b) Queue

c) Linked List

d) Heap

Answer: b) Queue

Explanation: BFS involves exploring nodes in layers, making queues a natural choice for its
implementation.

EasyExamNotes.com Data Structure MCQ



EasyExamNotes.com

Data Structure MCQ

29.Which operation in a linked list requires updating only the tail pointer?
a) Insertion at the beginning

b) Insertion at the end

c) Deletion at the beginning

d) Deletion at the end

Answer: b) Insertion at the end

Explanation: Insertion at the end of a singly linked list requires updating only the tail pointer.

30.What is the primary disadvantage of using a linked list over an array?
a) Limited capacity

b) Inefficient memory utilization

c) Complexity of implementation

d) Difficulty in accessing elements randomly

Answer: b) Inefficient memory utilization

Explanation: Linked lists require additional memory for storing pointers, leading to less
efficient memory utilization compared to arrays. However, they offer advantages like
dynamic size and efficient insertion/deletion operations.
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